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CELIP1series.BAS

OPTION ARITHMETIC DECIMAL_HIGH
INPUT PROMPT "k=":k ' 0dd x 000
LET el1=Elip1(k) ! O00O00 Kk) OO0 e11 OO0
PRINT "K(";k;")=";ell
LET s = 1
LET num=1
LET den=1
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LET i=0
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LET i=i+1 ! i num den X r
LET num=num* (2*i-1)"2 e
LET den=den* (2*i) "2 k"2 1/4
LET x=x*k"~2 k"4 9/16
LET r=num/den k™6 25/36
LET s=s+r*x k™8 49/64
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LoopP
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PRINT USING "#.####":r
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END
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NEXT j
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EF=+v1-k,  k=+1-k2 (27)

1
00000 k=K 000000 —=000D0
V2

00 k0 000 KO e«0bO00O0D00D0O00O K K,e, b000000000000OOCOOOOO
0000000000000000000000 20000000000000000 (6)0000O

b 2_b2
=2, p=YrT" (28)
a a
0(27)020000 (2800000
1 a 4 b
— 7 — 29
1+F a-+b 1+K a+b (29)
oooo
DDDDDDal—%ﬁﬂh Vab0DODOOODOODO k0000 ¥Da,0b, 0000
Jaz —b? a—b 1—F 1—-Kk
ky = Y11= = k= 30
! a atb 1+k’ 1+ Kk (30)
2 2 2 2
mzﬁzv%, 1+ K = , 9 (31)
ai a+b 1+ Kk 1+ a+b a1
00000000 (30)00 ¥ 0 V1I—k 0000000002000 100000000000
2k
=2 (32)

1+ K
oooo

3.3 buuoobbobouoogboon

04000000000 100 O0 100000 ABOOOOADODO OC=kK 0000 CODODOO
000000 POOOOZBOP=2004BCP =60, 000O0ZPOC=7n—-2000Z0PC=20—-06, 00
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P Z0PC =26 — 61
1 k1

sinf; ~ sin(20 — 60;)

PC = k1 cos 01 + cos(26 — 01)
C 01 20
A B PC2 =1+ k? + 2k cos 20
k k110

04 0000000zZ0PCOOOOOODO 100200000

sinf;  sin(20 — 6,)

ooApPOCOOOOOOOOOOOO ooo

sin(20 — 01) = ky sin 6y (33)
D00000PCOO0O020000000000APOCO0 10000000000
PC = ky cos 6 + cos(20 — 0;) (34)
O00000020000000000 PC?=1+k?—2kjcos(r—20)0011H
PC? =1+ k? + 2k cos 260 (35)

O0000Ocos20=1—-2sin?0 00000 14 k% 4 2k (1 — 2sin?0) = 1+ 2k; + k? — 4k sin?0 O 0
0004k 00 (32)020000000 4k =(1+k)?? 00000000000

cos(20 — 601) 4+ k1 cos by = (1 + ky)V 1 — k2sin® 0 (36)

0(33)00000000000cos(20 —01)(2d0 — db) =kycosf1ddy OO OO0DOODO

db B db,
ki cosfy + cos(20 — 0;)  2cos(20 — 0y)

(37)

0000000 (36)00000000 (33)00002000000000000000 cos(20 — 6,) =
\/1—k?sin?6, 000000000

do 1+Fk de
S =
1—k?sin”0 1 — k2sin? 6,
0000000000
¢ de 14k [# db
/ — :‘;1/ L S (39)
0 1 —k?sin“ 60 0 /1fk%sin291
DDDDDDD(mﬂjk—llEDDDDH—EQEDDDDDDDDDDD
T T 14k
#1 de ¢ de
Flonk) = [ = (14 K) [ = — 1+ )Pl k) ()
0 /1 — k2sin® 6, 0 1 — k2sin

000000000000 Landen’s transformation0 00 000 0000000000000 0O0O0O0O
ooooooooooo

1502 =2 +¢2 —2bccosADD 200000000
16J Landen 0 1719-179000000000000001780000000000000000000000000000OO 20
0000000000000000000 [6]0
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3.3.1 0OO000OO0OO0DOOOOODOO

00000000 (39)0 @:ngolzwDDDDDDDDDDDDDD [O,ﬂDDgDDDDDD

ogoood
T s 9 P
[ i e W
0 /1 k?sin0, 0 /1—k?sin?g, TMJo V11— k2sin®6
DDDDDDDDDDDDDDDDDDDDK(k)IZIIZIIZIEI
K(k) = (14 k1)K (k1) (42)
000000000 k0000000 K(kh)yOOkKOOODODOOOUO MO 1+ 0000000O00OO
1
DDDDDDDDDDDDDDkj:ﬁ:OJO?...[I[II:II:IDDDDD”Dk;l:O.17157...EII:II:II:I
K(k) = (1+ ki) K(ky) (43)

—— ——— ——
1.85407 1.17157 1.58255

goboodoo3oooooooooooon
gddbooouoboouobooo (42)[|[| (31)DDDDDD 1+k1:1|]|]|]|]|]|]
a1

K (k) = K (k)

ay
1

0000000 (23)0 I(a,b) DODOO0OODO (250 I(a,b):lK(k) 0 I(ay,b1) = —K(k) OO
a a1

I(a;b,\/%> = I(a,b) (44)

oooooo0ooooo0oobooboooobD100b00000 «0b0O00oDOOO000oDObO0O0bODDbOOO
obooooobooooobooog

/’5 do B / do
0 \/a% cos? 0y + b2 sin® 6, 0 VaZcos20+ b2sin 6

(45)

oood
gbobooboooboobooboooooooboobooobooboOooboooobooobooooooDbo
ooooooo

3.3.2 0O1000000000O000O000

000000000 @, b000000DODO0OO0ODOCOO0OR=k 00000

1—/1-k2 .
kj=—Y =1,2,...

Iy
7 =20b=10000%2"2 =0.17157---
a+b
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gboooboooboon

K(k)=(1+k1)K(k1)

—_—
= (14 k1) (1 +k2) K (k2)

(1 + k’1)(1 + k’g)(l + kg)K(kg)

(L4 k(L4 ko) (1 + kg) -+ (14 kn) K (kn)

000000k, =0000000 K(kn) = §DDDDDDDDDI<; goboobooon

K(k)= 35 (14 k) (L+ ko) (14 ka) - (1+ k) (47)

1.17157 1.00747 1.000014

1
oooooooooooooooobo0oobbob0d e=1,b=—00000000D0O0O0OOOOO

V2
000000000000 Elipl 0000000
AGM.BAS
e )

OPTION ARITHMETIC DECIMAL_HIGH
LET k= 1/SQR(2)
Elip1k=Elip1 (k)
PRINT "K(";k;")=";Elipik
LET t= 1
FOR i=1 TO 5
LET k=(1-SQR(1-k"~2))/(1+SQR(1-k"~2))
LET t=t*(1+k)
PRINT "1+k=";1+k;"t=";t;t*PI/2-Elipik
NEXT i
END

N J
1+k 0102000000AGM.BASO RMpXOOODOOODOOO AGMTeX.BASOOODOOOOO
O AGMTX.TXT O 600000&UDO0O000O0OOO

K(.7071068) = 1.8540747

14k = 1.171572875254 ,t = 1.171572875 ,diff = —1.3772E — 000002
14 k2 = 1.007469666730 ,¢t = 1.180324134 ,diff = —2.5863E — 000005
1+ k3 = 1.000013949369 ,t = 1.180340599 ,diff = —9.0194F — 000011
1+ k4 = 1.000000000049 , ¢t = 1.180340599 ,diff = —1.0969E — 000021
1+ ks = 1.000000000000 ,¢ = 1.180340599 ,diff = —1.6223E — 000043

ooooo00300000 nNooooos0043000b000ooon

K(k)OUOOOOUOO k0000000000000 0OO0O0OOO0O0OO0O0OO0OODOOOOOO
gboboooboooboo200b00000000000bO00O0O0O0bOO0DObOODOObOOObOOOn
goooooboooobooboooobobooooooDo

0 b0000000 00000 K, OOODOODOODOODOODOOODODOOOODDOOOO

do db
= lim

dO——
”—>°°/ \/a2 cos? 0 + b2 sin? 0 / VM2 cos2 0 + M2sin? M

000000 {e,}0{b,} 00000000000 QLDDDDDDDDDDDDDDDDDDD
an
000000 AGM.BASOOOODOODO Elipl 0000
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AGM.BAS O Elipl 0 0
(" P )

EXTERNAL FUNCTION Elipi (k)
OPTION ARITHMETIC DECIMAL_HIGH
LET a=1
LET b=SQR(1-k"2)
DO UNTIL a-b<10~(-900)
LET y=a
LET a=(a+b)/2
LET b=SQR(b*y)
LOOoP
LET Elip1=PI/(2%a)
END FUNCTION

N J
000000 BASICO 10000 00000000000000000OODOO 107°°°00000000900
ooooooboo

3.3.3 02000000000000000

b
alia;_ DblzvabDDDDDDDJ(al,bl)D J(a,b)DDDDDDDDDJ(al,bl):alE(kl)D
a1 0 b 0a,b000000k OO0 (30)0 klzzJ_rZDDDDD
a+b a+b a—b
Vv = E 4
J( 2 “b> 2 <a+b> (48)

1
0000000000 J(a,b)=aE(k) 0 I(a,b)=-K(k)00D00000100020000000

000 (9, p. 228]
1—k
1+ &

E(k)=(1+k)E ( ) — K K(k) (49)

0000 2J(ay,b1) — J(a,b) DOO000

2J (“;b,\/@ — J(a,b) = (a+b)E (Z‘b> — B (k)

+b
— (a+b)E G;’;) — (k)
— (a+b) (Hlk,E(k) + 1fk,K(k)) — aB(k)
= (a+1b) (aibE(k) + aibK(k)> — aB(k)

— bK (k) = abl(a, b)
godoobi1obobobooooobn
2J(a1,b1) — J(a,b) = abl(a.b) (50)

gooooo

2
2 _ 2 ooo
2 4

A\ = b
R—a2 R 0000 E=d 12— (6“11'*711> —ay_1by _ (@n1 —bn1)”

et — b
n = /a2 — b2 = % (51)



a+b

ooooooo0 A, = 2(J(an, by) — a21(an,b,)) 0000 J(

1<a;b,\/£> = I(a,b) 000

,\/c%) — J(a,b) = abl(a,b) O

anbpl(an,bn) I(an,bn)
At = An = 2" (3 (@ns1, brst) — Tam b)) — 2702 1, Tt b ) +2762 I (an, by)
= 2"apbnI(an, by) — 2" a2 I(ay, by) + 2"a21(an, by)
= 2" (2a,by, — (an + bp)? + 2a2)1(an, by)
=2""Ya2 — b2)I(an,by) = 2" % 1(a,b)

good

—27"A, = a21(an,b,) — J(an, by)

do — / " /a2 cos? 0 + 2 sin® 0o
0

jus
/ 2 .
0 \/a2 cos? 0 + b2 sin® 0
™

2 a2 — a2 cos? — b2 sin? @ a? — b2)sin® 6

dﬁf/ do
0 \/a2 cos? 0 + b2 sin 29 \/a2 cos? 0 + b2 sin 29

0
_ cg/ sin” 9 < 2 / 9 = 21(an, b,)
0 \/a%C0829+b% sin? @ \/a2 cos? @ + b2 sin® §
0000000< —A, <2"2I(ap,b,) =2"c21(a,b) 0000 lim 2"c2=000000001%
Ay + z_:(An+1 —Ap) = lim Ay =0 (52)
oooo
J(a,b) — a®I(a,b) = Ag = = Y (Aps1 — Ap) == > 2" 'c21(a,b)
n=0 n=0
—I(a,b) Y 2"7'c} (53)
n=0
0oooooo

J(a,b) = <a2 - i P 2) I(a,b) (54)

n=0

000000o0o0oo0o0oUoooU 20 E(k)00D0 10 K(k)OOOOoooo

E(k) = (1 - i 2”%2) K(k) (55)

n=0

Bp>100000 (1) 00000000ap—1 > bp—1 > b0 hm ap = lim b, 00 lim ¢, =00000000000
n—oo n—o0
1 —bp—
no 000000On>no 000 ¢, 0 b0O0OOO 0<cn<bDDDDDDDDn>noDDDDO<%:M7M:

2b
2 2 2
Ay l_bn 1 Ch—1 1 /cn_1\2
= < - OooooodonD <o 1 >bpr>000 20 < — b1 O0O0O0O
2(an 1+ bn1)  2b(an 1 +bn 1) (=5) =1 = ont -1t ont

1 1 1+2+4---2™ 1 Cno om 1 2m b
0000000000 {ea} O - DDDDDDDDDDDO<CHO+W<I;(4> <T) <b(1) = S

2n0+m )
ooo 0<2mtme n0+m<b2W_’0 (m—0)00 nlew2”ci:ODDDDD oo
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O0 k0000000O0K((k)O E(k)070000000000000000000 elipi200000

000 LegRelation.BASOO

- LegRelation.BAS O Elipl20 00000

EXTERNAL SUB elip12(k,elipl,elip2)
OPTION ARITHMETIC DECIMAL_HIGH
LET a=1
LET j=0
LET b=SQR(1-k"2)
LET t=1-(a"2-b"2)%0.5
DO UNTIL a-b<10~(-700)
LET j=j+1
LET y=a
LET a=(a+b)/2
LET b=SQR(b*y)
LET t=t-2"(j-1)*(a"2-b"2)
LOOP
LET elip1=PI/(2*a)
LET elip2=PI/(2*a)*t
END SUB

N

~

4 0O0O0ooogood

K(k)O E(k)D0U0D0OD0OO0O0O0O00D00DOODOLegendre relation0 0 0000000000000

B(K () + B()K (k) - K(R)E(K) = 3
O00000000000000000
4.1 0OJ0O00O00O00OOOO0O0O
00000000000 0000000000
dK B 2 . -3 _ 1 2
% k/ sin? 0(1 — k?sin? ) dé)fkk—g( —kE*K)
/) __ st %E K)
(1 — k2sin? )
_ 2 qin2 _
E0O0OOO /) __ksin®f 1/ (L—Fsin"0) 1 ogooooo
/(1 — k%sin 9 (1 — k2sin? 9)
cos? 6
KDDDDDDDDDDE—HWY:K/Q————————MDDDDDD
0 /(1 —k2sin?0)
k2 sin% 0 cos? 0 _i sin @ cos 0

(1—k?sin20)% (1—k2sinzg) @ (1—k?sin0)

gbooboogoogaon OSGSgDDDDDDDD

k’Q/? sin? 0 d9—/ cos
o (1—k2sin?0)2 /(1 — k2 sin? g
O000ooooooo (11, p. 740
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4.2 0O0OO0OO0OO0OO0OO0

000 K=K )OF =EK)0OOOUOUOOODOOUOODODOOOO ¥ OODODODOOOORO KOO

KO rkOODODODODODOODOODOOOOO

dK’ 1 dE’ 1

7:7E/— QK/ :*E/—K/
dk/ ka/( k )7 dk/ k/( ) (59)
dE’ dE' dk' £ — K’ k
00000 K'O PO kOD0ODOODOOOD = —=—|—— )
dk dk’ dk k' < k’)
dK’ 1 dE’ k
— = KK — FE' = (K'—-F 60
dk k‘k"2( ), dk k’Q( ) (60)
ooooooood (57),(58)7(60)DDD
d ! ! !
%(EK +E'K-KK')=0
O0D0D00((FK'+EFK-KK')OOOODOODOOOooooo
4.3 0O0O0O0O
kO 0100 0900 0.1DDDDDDDD(EK'-FE'K—KK')—%DDDDDD
LegRelation.BAS
4 N
OPTION ARITHMETIC DECIMAL_HIGH
FOR k=0.1 TO 0.9 STEP 0.1
CALL elip12(k,kk,ee)
LET d=SQR(1-k"2)
CALL elip12(d,kd,ed)
PRINT USING "---Y%.######~"""" ":eexkd+ed*kk-kk*kd-PI*0.5
NEXT k
END
. J

gbooobooooboooo

-1.263668E-819
-5.375704E-735
-6.901283E-855
-4.113722E-971
-1.433276E-893
-4 .582045E-796
-6.659445E-705
-4.582045E-796
-9.457629E-963

0000 EK'+FEK-KK' O gDDDDDDDDDDDDDDD
ooooooooooobooooobD k—=o000000O

im E = lim K = ~, lim E' =1
k—0 k—0 2 k—0
oooooo

lim (E — K)K' =
k—0
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DDDDDDDDhm(E K)—-00O0OOOOoOOoooo llmK/_llmKHOODDDDDDDDDD
oo %nr%)(E K)DDDDD th'DDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

O0ooooooo snDDDDDDDDDDDDD [4,[11)00000000000O000000
K(k) DDOODODOO (21)0 E(k) 0000 (22)0000000 k2 0000000000000
E-KOkK*oooooooo

m(/1-3\*4 (2r — 1IN 2r
KEk)—EEk) ==||=—) ck*+-- K2 4
(k) — E(k) 2((24) T +< (2r)! > 1" "
000k0000000000000

0< K(k) g/o

0000K(K) O %DDDDDDDDDDDD

B

1
——df = —
VEZ 2k

lim (B(k) — K (k) K (k) = lim O(k*) K (k') = 0

0000000000000 00(FPK'+FK—-KK')OO 1000 3000000000 200000
ooo gDDDDDDDDDDDDD

5 oooon

0000000000 (56)J0a=100b=

E(l)EDDDDDDDDDDDD

V2

1

00000k=k =—
V2

000000000 (56) 0

Sl

2FK — K2 = g (61)

DDDDDT:I—ZT*C?LDDDD E0O KOODOO ()0 F=TKOOOOOOOOOOOOO

n=0
0000000 2TK2—K2:gDDD19
1 2”2)K2:E 62
(1= e =2 (62)
0(332)0 k=kF = —0000M(1,-=) =MO0000K = - 00 (1 22”2) G
. = = — — = = — — C —_— = —
NG NG oM ") 4 T 2
00000000000 000
IV
ro (63)

1-% 2"
n=0

OO0 BASICOOOODOOOUOOOO100 Gauss.BASOOOOOOOOOOODOOOOOOOOOOO

INPUT epsn !  GaussLeg.BAS
LET a=1

LET b=1/SQR(2)

LET t=1/4

Wor —1=(2-32"c2)-1=1->2"c2
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LET x=1

LET p=(a+b) "2

LET i=0

PRINT i;p;p-PI

DO UNTIL ABS(p-PI) < 0.17epsn
LET y=a
LET a=(a+b)/2
LET b=SQR(b*y)
LET t=t-x*(y-a)~2
LET x=2%x
LET p=(a+b) "2/ (4xt)
LET i=i+1
PRINT i;p-PI

LOOP

END

BASICOOOOO nO00O0O0O0OODOOQOD 107c0000000000eO inputepsn 000000
epsn=10 00000 3000 10000000 60000000200000
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05 000 ((64)00 (65) 000 «=100000000000000000000000000O00O0O
good

A 0O0O0O0OO0ODOOObOOOOb

vbdobobobobobuobobuobuobuoouooooooooboobooobobaoboboboobo
oobooo voogwsooooooooboobooooooobooogbooobooo 20000DbOO00D
gbobodoobol1bobooooobooobooooobooboooobooobooobobooboooooooon
OO0O0000O0000o0O0O0 BIEX2:.0 PSTricks OO0 O0OO0O0O0O0ODOOO0OODOOOOODOOOOO
gboodano

Al O00O0O0OODOODOOOO

OO0000000000D0O0Olemniscate 000000000000 O0O0O0O00O0OODOOODO LEM-
NIsCUsOOooooooooooooooooooooooDo0o0ooooooogg codooooQ
0005000000000000M000000000000201701800000000000000
gooooobooooboboooogoooooon

r? = 2a” cos 20 (64)
goo
r? = a? cos 20 (65)

00000000?2'000000000000000000000 (65) 00000000000 (64)0
good
OO0000000x=rcosf0y=rsinfd 0000
2?2 2 =12, 2% —y® =1r%*(cos’H —sin? @) = r% cos 20 (66)

2

2
00 2> +¢°= - (2*—4*) 00000000 2000
T

(2% +9%)* = 2a%(2* — %) (67)

oooooobon0o z0y0Oob0o4000000D0O0O

0p0D000000000000000000000000000
20 6000D00000000000000000000000000000000000000 z=cosfly=sin20000
000000000000 coooOooUOdOlissajousda =sinfly =sin20 00000000 [12]0
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) Eapapec

0600000000

gbobooobobooboooboboooboobooooobobobooboobobooboobobooboon
0220

2000000000000000000000000000 Cassinian ovaldO000(—b,0) O (b,0)
00000000 «*0000 POODOOOODOOOODOOOOOD

V(e +02+ 32/ (2 —b)? +12 = a’ (68)

000000000 «=b0000000200000 (67 000000000000 OOOOOOO
00000000000000000000000000000 00 v2,—vV2e0 20000000
(+e,0) DOODO0O0ODOODOOOODOOO

1
00000000 0500 «=100 (64)00 a:\—@DDDDDDDD r?=cos20 00000
O0cos20 0000000000000 ODO r=4/|cos20) 00000000 2 =rcosh, y=rsind

00000060 400000000040000%0000000000 (0,4¢) 000000000
000000000000000000000000000000 —cos20 =sin?6—cos?d =y?—z2 0
000 (67)0000000000000002x0y000000000000D0O00O (68)00000O0
00 y000000 a2+ (y+0b)2/22+(y—b)2=e>000000

060000045° <0< 135°0225°<6<315°00000000000000000000O0O
0 plotpoints=181 0000000000000 000O0O0ODOO020000000ffolium000000
r=sin2000000cusp0 000000000000 50000000000000000O0DO0O0O100
000000000000D000000D00D0D00000%0400 4000000000000000
000 plotpoints=361 00 0000000000000 0DODODODODODOOOOOODO 50000030
00000000040000000000000 ¢=45°00 135°000000000000000
00000000000 D0000000000000000000000000000D0000000
00000000000D000000000D0000000000000000000D00 cos2000
00000000%0000000000 s000000000000000000O0O0O0O0O0DOODO
002%000000 (64 0000000000000

220po00000000o0o0ooo0oooon

2317018 0000000 0<#<45° 00 10000000000 O000

20000000 z=f(), y=¢()00000000000000000 f/(#)0 ¢()0000000000O0OOOOO0O
000000000D00000000000000000

2cos45° 000000

26PostScript 0 Adobe 000000 DOO0DO0DO0O0DOO0PostScript 000000 PSOODOO GNU O Ghostscript
00000000000000000Ghostseript 0 1986 00 GNUDODOOOOOOODODO L. Peter Deutsch 00000000
GPLOOOODOOOO0ODOO0O Deutsch O Ghostseript 0000000000000 000O0DO0O000O0O0O0O0000
Aladdin Enterprises 00 0 OO0 Ghostscript 000000000 GPLOODODODODOODODOOOOOOOD e0doooooo
00000000000000000000 Adobe 00 Acrobat 9 Prod pdf 0000000000000 O000O0O0OO0ODO
000 GhostSeript 0 Adobe 000000000000 ODOOODOODOON
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O 7oboboooboobooooobooboooobooooooobn

A2 O00000O0O0ODOOOO2000

0650 «¢=100000000000000000000000D0000OOO m2fy2:1|:||]D
O Minverse curveD 00000000000 (x,y) D000 Oinverse point0 0 (X,Y) 0000

L Y

x2 +y?’ 2 +y? (69)

gooooooo Y goddooooooooomoboboboobobobobooon
r = —————— = —_—
X2_|_Y2’ Y X2—|—Y2

0 (z,y) 00000 r000000000000 (s,y) 00000000000 » 2000000270

DDDDDDDDDDDDDDDaﬁwmﬁz—L#M:wwﬁzsmaDDDD%DDDDDDDHD
000 90° 0000000(1,0000 45° 0000 y=« 00 1000000007000 100000
00000 22-42=10070000000000000000000000000000000 70
0000000000000000000000000 »~20000

0000000060 90° 000000000000 10000030000000000600 90°0
0 180°00000(~1,00 000000000 (64)0 #0000 20000001000000000
0000000000000 700000000000 —4200 42°0 13800 222°0 200000

Jod0oboObOoOoO0o0o0o0ooboobObO00o00ooOoboOoOobOO0o0oooooOoobOoOoooOoOooooon
ooog sec tan 0 cos sin @ cos 0
Tr =

= ooooodl 2= ———=-0y =
0000 (64)000000 e 0D00D0O0OO0OO0OODODOOOO

D —_
sec2 f + tan? 0 4 sec2 f 4 tan? 0 1+sin?6 4 1+sin?6

B V2a cos 6 B V2asin 6 cos §

= , = 70
* 1+sin%6 4 1+sin%0 (70)

0000 »0000000000000000 »~200000000000000000000000000000000O0
gobooooooooooooooooboboOoooooobooOoOoboOoOoOooo

200 0o00000009° 0000000000 0000000000 POOOOPOD x00000000000 Q
00o0opPOO0DOO0OO0ODOOOO0O0:D00000 ROOODAOQPO AOPROOOD OQ:QP:0OP =cosf:sinf:1

ng 1
0000OP:PR:OR=1: 27 . ooo [12]0
cosf cosf
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O & oobooooboooooooboobooboobooooon

2a2 cos? 0
1+ sin?0

0000000200000 22000000000000000 (70)00000000

0O@)0 0 y 00 (67)0000 224420000000
2a? cos* 0
(1 + sin? )2
0O(67)00000000000000000000D000000000D000D000000000000
00000000000000000000000000000000000 200000000

DU@Da:;%DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

0000 r0000000000D0O » 20000000000 10000000000000 300
gbooobobooooboooboobooon

0000000 22 —42 0

1
000 0PSTricks O pstplot 000 000 parametricplot 00000 (64) 00000 a= E gooo
0O (65) 00000 «=10000000
\parametricplot[linewidth=1.2pt]{0}{360} ooo ooo
{t dup cos exch sin dup mul 1 add div xgo
t dup dup sin exch cos mul exch sin dup mul 1 add div} Y OO
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OPTION ANGLE DEGREES OO000O0000000o0o0oooooooo
SET WINDOW -2,2,-2,2
DRAW grid
PRINT "\psline";
FOR t= 1 TO 134 STEP 7 OO0t 0 1000 134 000 70000
LET x=SQR(2)*C0S(t)+1 AQO x0OO0O
LET y=SQR(2)*SIN(t) ADO yOOO
LET theta=thetabi(x,y,0,45) 2000 (x,y) OOOO theta OOO (0,45) OOO
LET xx=SQR(2)*C0S(theta)-1 BO xOOO
LET yy=-SQR(2)*SIN(theta) BO yOoQo
LET xm=(x+xx)*0.5 MO x OO0
LET ym=(y+yy)*0.5 MO yOOO
PLOT LINES:xm,ym; M O BASIC O0O0O
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ELSE 00 (c,p) OOOODOOOODO
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